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Shah N.H. Commerce College, Valsad
Internal Test Examination, Feb/Mar-2020

S5.Y.B.Com—Sem-- 4

Subject- Business Administration

Date :02/03/2020

Time : 12-30 to 2-15 Total Marks : 04

multiple Choice Questions (IMICQs )

Marks — 04

/ﬁg{e: This paper contains 08 MCQs.
attempt all Questions with best answer possible.

Answer of the MCQs are write only on First page of your Answer book.

1 Following is the types of Retailer.
A- By Departmental Store B-By Super Market
C-By Catalogue Showrooms D- All of the Above.

2. Following IS t}wgtyp)—es of Market. V
A-Consumer market B-Re-seller’s Market
C-Government Market D-All of the above

3. Following is a online retail market site

A-Amazon.com B-flipkart.com
C-e-Bay.com D-All of the above

4. Following is not a macro environmental factor.
A-Demographic B-Marketing Intermediaries
C-Natural forces D-None of the Above.

5.Branding includes

A-Name  B-Design C-Words  D-All of the above or Combination of Al

6. Following is the pricing policy
A-Profit maximization " B- Highest Pricing Policy

C-Price Descrimination D-All of the Above.

7.Following is not the constituents/elements of Promotion mix.

A-Advertising B-Personal Selling
C-Product ' D-All of the Above.

8.Webinar means
A-Website development B-Web based Seminar
C-Charminar D-None of the Abeove.
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SHAH NAROTTAMDAS HARJIVANDAS COMMERCE COLLEGE VALSAD.
Internal test
F.Y.B.COM. SEM. 1
STATISTICS P-1
DATE : /11/2022 MARKS : 50
TIME : 2 Hours

Q.1: o{lAetl Ysloll arcllol UL (SlEFURL UidL). (10)

Answer the following question (Any Five).

1. lim a*71
x—-1

2. y=¢”* alal ll [d—y] 0l (Find Differentiation).
dxl,—o

3. % [ledloj s€ 5 &lat Wl R= 2.326 &l l Beulgal
Ulsale] AU d yHBld (Qucst 0.

(If sample size 5and R= 2.326 then find standard deviation
of production process.)

4. % A W B URUR [Acllrs ol LAY weetl sl dl
p(AUB) ol (5t 20

(If A and B are mutually exclusive and exhaustive event then
find p(A U B).
. 1+x
5. lim—

6. Al 9JRLUH A Yol JJRUHS Aol sl dl JJRUHS AHULs
Q ol HelH (SHA LUl

(There is positive association between two attributes then state

the maximum value of coefficient of association.)

50 | 20
7.46Ucoll g [10] sles &lal dl JBlleHs duuls k.




(If contingency table Find |50 | 20| coefficient of association.)
0O |10

8. % & WAW HIE
(For a x-chart X = 30,UCL=40 then LCL find.)

9. %l y = logx alad [Z—ﬂ _ L.

(If y=logx then find [Z—y] )

X1x=1
10. ol AU HdcAloll Aottt usAL
(Test the consistency of the following data.)
(A)=300, (B)=100, (AB)=120, N=400
Q.2 Ul Q.5 Hidl slFunl A cvtdal. (28)

30, UCL=40 &l dl LCL 204

(Answer the question any two from Q.2 to Q.5)

Q.2: (a) (SHA 20 (Evaluate) (04)
. x24+3x+2 . 1 1
(1) xliTIll x2+4x+3 (2) ;lcl_trzl x—2 (x—l)(x—Z)]
(b) [AsCet 8. (Differentiate): (04)

(1)y = (Bx*=2)(x*+7)
(2)y = log - log x
(c) 52 Utllefl alsHiell 2 Uil 2e69 A AaltHl A A, (06)

(1) ol st WAl AR(Al sl
(2) WS U AW Wl As U AL sl Aell
etlaell 20wl

(Two cards are draw from a pack of 52 cards, then find the

probabilities,
(1) Both are king or queen.
(2) One king and one queen.)



Q.3: (a) (SH 0. (Evaluate): (04)

(1) lim &20+3) (2)lim =2

x—o0o 1+24-4+n x—9 Jx—3

(b) A AHUA WA BNl AHoll GUR HOLAL sl (04)
AalA,
(1) Ao 11 WA
(2)  BOHL AL ARl 11 A Ae{l el
el

(Two cubical dies are through simultaneously then find

the probabilities,
(1) Getting sum 11
(2)Getting sum at least 11

(c) ollAell 1A wRell A ot A WA B (06)
JRlLeHSs Aol oll YsIR olssl s3,
(1) WAABA wal AR 2g(Qsdl da,
(2) ynwl 34,

(From the following data state the types of association

between two attribute A and B by,
(1) Observed and expected frequency method
(2)Proportion method)

N=210, (A) = 60, () = 140, (AB) = 20

Q.4 : (a) [AsAsl S, (Differentiate) : (04)
1)y = 2_35x 2)y =x-logx
(b)y = x3 —3x2 + 5 oll AYdlH (B 20 (04)

(Obtain minimum value of the function y = x3 — 3x2 + 5)



(c) ollAell Ml uell Yetoll A WetRcl wa A3
R OJBULHS Aouls W

(From the following data find coefficient of association
between literacy and jobless)

sC (s (Total No. of Persons) = 1000
[ARe12 AslR caUlscRA (Illiterate persons) = 440

Als3| sl ULER cAlsRA (Job full literate persons) = 40

(06)

Als3 5l ARaR caulscA (Job full llliterate persons) = 360

Q.5:(a) o{l Aol UEL UM (State the following terms) :
(1) UWRRUR [Aallrks weell ( Mutually exclusive event).
(2) Yrs ueell (Complementary event).
(b) W5 WEHL 4 UFE ol 2L sl ESL B,
ol Auidl Al est a9 A Aol U d,

(In a box contains 4 white and 4 black balls, if two balls

are selected at random then find the probabilities,
(1) olol s 20Lall @a(Both are same colour)

(2) olol WEL YEL RILell @E‘al(Both are the different colour)

(c)y = x3 4+ 6x% — 15x 4 7o(l HETH WMol oYottiH
ERTSENNE

(Find maximum and minimum value of

functiony = x3 + 6x% — 15x + 7.)

(04)

(04)

(06)



Q.6 (a): AlejsHall Rglc UM (Explain THEORY OF RUN). (04)
(b): Al HUEA Wl x- 2UAW €13 Geulest ulsal  (08)
(A AR ARl Bl (n=5).

(Draw x- chart from the following data and give the
conclusion about production process). (n=5)

de9L |23 |23 |22 |23 |22 |20 |20 |24 |25 |23

Averagr(x)

Rz |8 [3 [4 |8 |4 |2 |4 |7 |2 |4

Range(R)

U 2ClL(OR)

Q.6 (a) : JLRlelTllHl At YSIR UMl (04)
(State the types of variation in quality)
(b) : o{lAe{l HUEA uRell R-UAW €13 Geaulest ylsuL (08)
(A AR A2t el

(Draw R-chart from the following data and give the
conclusion about the production process).

VAlsall
[Aeal 51 Observation
Sample size X4 X2 X3 X4
1 8 7 8 !
2 12 10 7 6
3 9 9 8 ’/
4 10 12 8 7
5 9 9 9 8
6 14 10 10 11
7 ) 9 10 7
3 12 10 10 10
9 11 6 14 9
10 7 9 4 >

End



Shah N.H Commerce College, Valsad

Internal Test Examination, February - 2020

Time : 03:15 to 05:15 F.Y.B.Com ( Sem - 2) Total Marks : 4 + 35
Date : -28/02/2019

Sub : - Statistics for Business P - 2

Instruction :- (1) Figures to the right side indicate full make of the question.
(2) Statistical table and graph paper will be Supplied on request.

a1 McQ )
b
(1) If g(x) + ¢ be the Integration of function f(x) then fa f(x)adx = z=eo-r====
(1) f(a) - f(b) (2) f(b) - f(a) (3) g(b) - g(a) (4) g(a) - g(b)
(2) Mean = 4 and variance = 2 of the binomial distribution then find Probability
of failure.

W™ 18 @2 6); W6
(3) For Paisson distribution P(X=0) = 0.0183 then find mean.
(Ho 2)1 (3)4 (4)0.5

(4) Mean and s.d. of Normal distribution are 10 and 2 respectively then find

X —
mean of ( 210)

(H10 ()2 3)0 41
(5) Which distribution is useful to construct P - Chart
(1) Normal (2) Poisson (3) Binomial (4) Hypergeornetric
(6) For controlling No of defect UCL = 15 and LCL = 0 then find central Line.
(1)18 (2)9 (3)0 (4)27
(7) Evaluate | 01 2x dx
(H2 )1 (3)08e) =

_ (8) Mean of Normal distribution 1s 50 then fine mode.

b ()0 (2)1 (3)50 (4) =

Q-2 (A) Integrate :-

| X341 4 1
) | 7 X @) & 7= IX (4)
2 ezx_ ex
(B) Evaluate :- f i dx (3)
(C) x is Normal variate whose mean = 150 and s.d.= 20 and P(X2K) = 0.8413 (4)
than find the value of k
OR
Q-2 (A) Integrate :-
 ~X?%-2X-3 X+2
O ereraC JOR el @

(B) Evaluate fol X% ((di— i—)(l & -f_-i-)dx (3)




P

: tivel
(C) Mode and variance of Normal distribution are 60 and 225 respectively (4)

Find Q3.
UL (3)
Q-3 (A) State the properties of Binomial distribution :

=2)=10.1464 (4
(B) For Poisson variate x P(x=3)=P(x=4) then prove that P(x=2) (4)

S O 5
(C) Probability density function of Normal distribution is (5)

1
f(x) = —2\[% % e 128 (x — 40)? than find P(X<36)
OR
Q-3 (A) State the Properties of Normal curve. (3)

(B) For Binomial variate n = 6 and 9P(x=4) = P(x=2) then find Probability (4)
of success.

(C) For Normal distribution P(x<45)=0.31 and P(x=>64) = 0.08 then find (5)
Mean.

Q-4 (A) What is C — chart 9 Explain its constriction. (5)

(B) From the following data Drew np — chart and give conclusion about  (7)
Production Process. '

Sample No l 2 374T5T6T7T8T9ﬂ101

ltem Inspected | 100 | 100 | 100 | 100 | 700 | 100 | 100 1100 100 100
J

7001100 | 100 | 100 T100
No of 2 (58 6 o100 [ 27 [ 3151

i B i 4 Il = 5 5 & 4 8

defectives

Q-4 (A) What is P — chart ? Explain its contribution.

(B) From the following data.Draw an appxpriate chart and give conclusion
about the Production process.

Sample No I 2 10 e
| |
Noof detects | 12 | 8 | 10 | 14 | 09 | 08 | 02 |06 12 o5

i a4 ] L a | 2] L 4 B ot

(3)

| [




